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int res;

void Task1(void« para)

{
OSTIMeDIy(L); ===============- A
res = 0;
OSTimeDly(1);

}

void Task2(void« para)

{
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OSTimeDly(1);
res +=5;
printf( “Result = %d” res);
}
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void OSSemPend(OS_EVENT* pevent, INT16U
timeout, INT8U xerr)
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int res;
OS_Eventx sem

void Task1(void« para)
{
INT8U err;
sem = OSSemCreate(1);

OSTimeDly(1); -------=-=-===------ (A)
OSSemPend(sem, 0, &er);

res = 0;

OSSemPost(sem);

OSTimeDly(1);

void Task2(voids para)

{
INT8U err;

OSSemPend(sem, 0, &err);

1S = 3;  -m--mmmmmmmememeeeeen (B)
OSTimeDly(1);

res +=5;

printf( “Result = %d” res);
OSSemPost(sem);
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int res;

OS_Events mu

void Task1(void« para)
{
INT8U err;
mu = OSMutexCreate(2, &err);

OSTimeDly(1); ------------=----- A
OSMutexPend(mu, 0, &err);

res = 0;

OSMutexPost(mu);
OSTimeDly(1);

void Task2(void para)

{
INT8U err;

OSMutexPend(mu, O, &err);
res=3; oo (B)
OSTimeDly(1);

res +=5;

printf( “Result = %d” res);
OSMutexPost(mu);
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